
We have 1,300 orders to fill We have a total of 1,400 unit 
capacity across four lines

Each line has a different variable cost per 
unit. Line D is the most expensive, so we'll 

want to minimize what we send it

The variable we are optimizing 
is what quantity should be 

produced on each line. 

Constraint C1 dictates we must produce the exact quantity of customer  (no dimension, so just overall)
Constraint C2 constrains the quantity each line can produce to below or at its max capacity

The objective we are minimizing is the sum of all variable costs, Sum( Quantity Produced per Line * Variable Cost per Unit).
It's dimensionalized by production line because the input Variable Cost per Unit varies by line. 
If this wasn't specified, Optimizer would minimize (Sum of quantity produced across all lines) * (Sum of all variable costs)

T1.2 Allocation with Objective
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